JACOBS and DIEMER, P.C. Attorneys and Counselors at Law The Guardian Building, Suite 2825 500 Griswold Street Detroit, MI 48226-3480 (313) 965-1900

.

Tax I.D. 38-3510534

GPW USSIC Shawn Murphy, Treasurer City of Grosse Pointe Woods 20025 Mack Plaza Grosse Pointe Woods MI 48236 Page: 1 February 03, 2023 Claim No: JPJPC-20222Q Statement No: 16

RECEIVED

USSIC v City of Grosse Pointe Woods

FEB 21 2023

CITY OF GROSSE POINTE WOODS CLERK'S DEPARTMENT

For Professional Services through: 01/31/2023

01/03/2023	TAD	L510	A102	Research re: federal case law regarding right of	Rate	<u>Hours</u>	·
0 1100/2020			an insurer to recoup defense costs [JOINT TASK FOR GPP/GPW].	142.50	1.80	256.50	
	TAD	L510	A103	Draft/revise Response to USSIC's Motion to Amend the Complaint (continued) [JOINT TASK FOR GPP/GPW].	142.50	0.60	85.50
	EPC	L510	A102	Research re: reimbursement of attorneys fees and Sixth Circuit case law regarding same [JOINT TASK FOR GPP/GPW].	142.50	1.20	171.00
	SMM	L510	A102	Research re: reimbursement of defense costs [JOINT TASK FOR GPP/GPW].	100.00	0.80	80.00
	SMM	L510	A103	Draft/revise Response to USSIC's Motion to Amend Complaint (continued) [JOINT TASK FOR GPP/GPW].	100.00	0.50	50.00
01/04/2023	SMM	L510	A103	Draft/revise Joint Response to Plaintiff's Motion to Amend Complaint [JOINT TASK FOR GPP/GPW].	100.00	1.30	130.00
01/05/2023	TAD	L510	A102	Research re: case law rejecting the right of an insurer to recoup defense costs [JOINT TASK FOR GPP/GPW].	142.50	1.60	228.00
	TAD	L510	A102	Research re: an insurer's broad duty to defend under Michigan law [JOINT TASK FOR GPP/GPW].	142.50	1.40	199.50
	TAD	L510	A103	Draft/revise Response to Plaintiff's Motion to Amend the Complaint (continued) [JOINT TASK FOR GPP/GPW].	142.50	4.50	641.25

USSIC v City of Grosse Pointe Woods

0.4.10.0.10.0.00					<u>Rate</u>	Hours	
01/06/2023	TAD	L510 A10	A102	2 Research re: Ripeness Doctrine [JOINT TASK FOR GPP/GPW].	142.50	0.40	57.00
	TAD	L510	A103	Draft/revise Response to USSIC's Motion to Amend the Complaint - Finalize draft for client review [JOINT TASK FOR GPP/GPW].	142.50	3.70	527.25
	SMM	L510	A103	Draft/revise joint Response to USSIC's Motion for Leave to Amend the Complaint (continued) [JOINT TASK FOR GPP/GPW].	100.00	1.10	110.00
	TAD	L510	A108	Communicate (other external) - E-mail to Mr. Schulte, Ms. Walling, and Mr. Sizeland with draft Response to USSIC's Motion to Amend the Complaint for review [JOINT TASK FOR GPP/GPW].	142.50	0.10	14.25
	SMM	L510	A104	Review/analyze USSIC's Response to joint Motion for Stay of Proceedings [JOINT TASK FOR GPP/GPW].	100.00	0.30	30.00
01/09/2023	TAD	L510	A103	Draft/revise Response to Motion to Amend the Complaint (final draft) [JOINT TASK FOR GPP/GPW].	142.50	0.50	71.25
	SMM	L510	A104	Review/analyze Intervenors' Concurrence to Joint Motion for Stay [JOINT TASK FOR GPP/GPW].	100.00	0.10	10.00
01/11/2023	TAD	L510	A101	Plan and prepare for Hearing on Motions - Analyze Motion for Leave to Amend the Complaint and Response Brief - Prepare Oral Argument Outline [JOINT TASK FOR GPP/GPW].	142.50	1.90	270.75
	EPC	L510	A101	Plan and prepare for Hearing on Motions for Stay of Proceedings and to Amend the Complaint [JOINT TASK FOR GPP/GPW].	142.50	1.70	242.25
	SMM	L510	A101	Plan and prepare for Hearing on Motions - Analyze briefing for Motion for Leave to Amend the Complaint and Motion for Stay [JOINT TASK FOR GPP/GPW].	100.00	1.10	110.00
01/12/2023	TAD	L510	A101	Plan and prepare for Hearing on Motions - Preparation of Oral Argument Outline (finalize) [JOINT TASK FOR GPP/GPW].	142.50	1.50	213.75
	TAD	L510		Appear for/attend Hearing on Motion for Stay and Motion to Amend the Complaint [JOINT TASK FOR GPP/GPW].	142.50	1.70	242.25

USSIC v City of Grosse Pointe Woods

	EPC	L510	A109	Appear for/attend Hearing on Motion for Stay and	Rate	Hours	
	_, _			Motion to Amend the Complaint [JOINT TASK FOR GPP/GPW].	142.50	1.70	242.25
	TAD	L510	A108	Communicate (other external) - E-mail to Defense Teams for GPW and GPP re: update after Hearing - Stay granted and Amendment denied [JOINT TASK FOR GPP/GPW].	142.50	0.10	14.25
	EPC	L510	A103	Draft/revise Order Granting Motion to Stay and Denying Motion for Leave to Amend the Complaint [JOINT TASK FOR GPP/GPW].	142.50	0.20	28.50
01/13/2023	TAD	L510	A108	Communicate (other external) - Telephone call with Mr. Walton re: approval of language of Order from yesterday's Hearing [JOINT TASK FOR GPP/GPW].	142.50	0.10	14.25
	TAD	L510	A108	Communicate (other external) - E-mails (3) to and from Mr. Walton and Mr. Doherty with proposed Order [JOINT TASK FOR GPP/GPW].	142.50	0.10	14.25
	EPC	L510	A104	Review/analyze and accept redline changes to Order Granting Motion to Stay and Denying Motion for Leave to Amend the Complaint [JOINT TASK FOR GPP/GPW].	142.50	0.20	28.50
	SMM	L510	A104	Review/analyze USSIC's revisions to the proposed Order regarding Motion for Stay and Motion for Leave to Amend the Complaint [JOINT TASK FOR GPP/GPW].	100.00	0.20	20.00
01/18/2023	EPC	L510	A108	Communicate (other external) - E-mails (4) with potential water quality Expert re: Meeting [JOINT TASK FOR GPP/GPW].	142.50	0.20	28.50
01/20/2023	TAD	L510	A108	Communicate (other external) - E-mail from Frank Schulte with Rain Event Update from McGraw Morris.	285.00	0.10	28.50
01/25/2023	EPC	L510	A108	Communicate (other external) - E-mail to Counsel in underlying matter re: status of Summary Disposition [JOINT TASK FOR GPP/GPW - NO CHARGE].	0.00	0.10	0.00
01/26/2023	EPC	L510	A105	Communicate (in firm) - Conference with Ms. McLeod re: meeting with ESi to discuss potential expert services [JOINT TASK FOR GPP/GPW].	142.50	0.20	28.50
	SMM	L510	A105	Communicate (in firm) - Conference with Mr. Conn re: meeting with ESi to discuss potential			

4,412.00

0.00

					– .		
				expert services [JOINT TASK FOR GPP/GPW].	<u>Rat</u> 100.0		20.00
	SMM	L510	A104	Review/analyze file materials in preparation for meeting with ESi to discuss potential expert services [JOINT TASK FOR GPP/GPW].	100.0	0.20	20.00
	EPC	L510	A109	Appear for/attend meeting with E. Tuczak and B. Kenney to discuss ESi's potential involvement in providing expert services [JOINT TASK FOR	4 40 5		85.50
				GPP/GPW].	142.50	0.60	85.50
	SMM	L510	A109	Appear for/attend meeting with E. Tuczak and B. Kenney to discuss ESi's potential involvement in providing expert services [JOINT TASK FOR GPP/GPW].	100.00	0.60	60.00
01/30/2023	EPC	L510	A108	Communicate (other external) - E-mail from Jonathan Walton re: Status Conference [JOINT TASK FOR GPP/GPW].	142.50	0.10	14.25
01/31/2023	EPC	L510	A108	Communicate (other external) - Telephone call with M. Abdallah re: status of underlying litigation [JOINT TASK FOR GPP/GPW].	142.50) 0.10	14.25
	SMM	L510	A108	Communicate (other external) - Telephone call with M. Abdallah re: status of underlying litigation [JOINT TASK FOR GPP/GPW].	100.00) 0.10	10.00
				For Current Services Rendered		32.90	4,412.00
				Total Fees and Costs:			4,412.00
				Previous Balance			\$5,157.80
				Payments			
04/26/2022							5 4 5 7 0 O
01/26/2023				Payment - CK#65535 - Thank you!			-5,157.80
				Balance Due			\$4,412.00
			127		<u>yments</u> 471.21		
				Task Code Summary		_	_
L510 Appel	late Mot	ions and	Submis	ssions		<u>Fees</u> 4412.00	Expenses 0.00
1500 Anno		4 440 00					

L500 Appeal

592536812,000 Sm 2/3/23

USSIC v City of Grosse Pointe Woods

Please Remit

Page: 5 February 03, 2023 Claim No: JPJPC-20222Q Statement No: 16

\$4,412.00

Final Statement Run Totals 02/03/2023

Statements Printed:	1
Hours:	32.90
Fees:	4,412.00

•

,